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1. (a) The two ways to work out the area of a rectangle are shown below

(i) Count the squares

1 2 3 4 5
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14 | 16 | 18 | 20

3cm| 7 8 9 10 | 11 7
3 v 4 o= 18 )| 21 | 24 | 27 | 30

13 114 |15 | 16 | 17

4 8 | 1 | 16 | 20 | 24 | 28 | 32 | 36 | 40

6 cm
(i) Use multiply 5 110 | p | 20 | 25 | 30 | 35 | 40 | 45 | 50
3xborbx3=...
6 4—+218) 24 | 30 | 36 | 42 | 48 | 54 | 60
(iii) Area = ...cm?

714 |21 | 28| 35 |42 |49 | 56 | 63 | 70

(b) Work out the area of this rectangle
8 |16 | 24 | 32|40 | 48| 56 | 64 | 72 | 80

9 |18 | 27 | 36 | 45 | 54 | 63 | 72 | 81 | 90

10 | 20 | 30 | 40 | 50 | 60 | 70 | 80 | 90 | 100

(c) Work out the area of this rectangle

Area = ...cm Area = ...cm
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2. (a) The two ways to work out the area of a rectangle are shown below

(i) Count the squares
X 2 3 4 5 6 7 8 9 | 10
1 2 3 4
2 4 6 ! |12 | 14 | 16 | 18 | 20
6 7 8 9
4 cm 3 6 9 | 1| 18 |21 | 24| 27 | 30
11 | 12 | 13 | 14
— 4 4—8——+2—+ @ 24 | 28 | 32 | 36 | 40
16 | 17 | 18 | 19
— 5 115 @ 25 | 30 | 35 | 40 | 45 | 50
5 cm
(ii) Use multiply 6 12 | 18 | 24 | 30 | 36 | 42 | 48 | 54 | 60
4dxdordHx4d=...
714 |21 | 28| 35 |42 |49 | 56 | 63 | 70
(iti) Area = ... cm" s 16|24 | 32|40 | 48| 56|64 72|80
(b) Work out the area of this rectangle
9 | 18 | 27 | 36 | 45 | 54 | 63 | 72 | 81 | 90
10 | 20 | 30 | 40 | 50 | 60 | 70 | 80 | 90 | 100

(c) Work out the area of this rectangle

Area = ...cm Area = ...cm
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3. (a) The two ways to work out the area of a rectangle are shown below

X 2 3 4 ) 6 7 8 9 | 10

2 4 6 10 | 1p | 14 | 16 | 18 | 20

3 6 9 |1 | 15 | 18 | 21 | 24 | 27 | 30

(i) Count the squares
4 S 22—t 20-024) 28 | 32 | 36 | 40

1 2 3 4 >
5 |10 [ 15 | 20 | 25 | 30 | 35 | 40 | 45 | 50

7 8 9 | 10 | 11

4 cm 6 —+—+2 18)@ 30 | 36 | 42 | 48 | 54 | 60

13 | 14 | 15 | 16 | 17
7T 114 ] 21 | 28 | 35 | 42 | 49 | 56 | 63 | 70

19 1 20 | 21 | 22 | 23

8 |16 | 24 | 32 | 40 | 48 | 56 | 64 | 72 | 80

6 cm
(ii) Use multiply 9 | 18 | 27 | 36 | 45 | 54 | 63 | 72 | 81 | 90
4x6orbx4=...
10 ] 20 | 30 | 40 | 50 | 60 | 70 | 80 | 90 | 100
(iii) Area = ...cm?

(b) Work out the area of this rectangle (c¢) Work out the area of this rectangle

Area = ...cm Area = ...cm
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Answers

1. (i) 6, 12, 18 (ii) 18 (iii) 18
(b) 7 x 6 = 42
(c) 3 x 8 =32

2. (i) 5, 10, 15, 20 (ii) 20 (iii) 20
(b) 6 x 6 = 36
(c) 3x9=27

3. (i) 6, 12, 18, 24 (ii) 24 (iii) 24
(b) 6 x 7 = 42
(c) 7 x 8 = 56
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